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=1 748 204,266 4 205,018 108 %
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. _ D R EDFEMmE
x| e g |REAE HEAR TEm Y= w0l =6 TE e
HE|ZTWIA 20,895 [¢ W AL 140 | &% 10
FE= 10 756 702 648
By 10
GiERS] 20,755 |&#* 10 | 1,728 | 1,404 1,296
= 10 | 1,188 756 648
BH 10
VANESY 40 | #Exd 40 | F%E 0.8
CES 5
£ 0.8
IZA LA 11,970 | #Bx¢ 11,970 | FE 10 | 2,160 1,944 1,728
/e 10 | 2,052 | 1,944 | 1,836
&b 10 | 1,944 1,188 | 1,080
Fry 8,010 |& Y A#L 10 |F%E 10
Ik 10 540
By 10
GERS 8,000 |FE 10
B/ & 10 864 108
&b 10
L& X 320 | €W AL 20 | =¥ 10
5 10
By 10
=P 300 | =% 10
5 10
&b 10
EZ<En 520 |8 Y AL 130 | ¥ 15
Z 15
B 15
GEDS 390 (&% 15
B3 15
£ 15
ZEDOR 1,005 €Y AAL 25 |23 0.2
HR 0.5
B 0.5
iEpS] 980 |23, 0.2 54
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BER 0.5
By 0.5
F5NAZS 1,244 | &Y AAL 25 |35 0.2
ZiH, 0.2 92 86
By 0.17
GiEPS) 1,219 |35 0.2 108
Z 0.2 92 76
By 0.17 108 86 76
h&E 2,046 €W AAL 35 |2k 5
FEE 5
& 5 1,188 864 756
X 2,011 |Z%i 5 2,160 | 1,296
FE 5 2,700 2,592
e=S:u 5 2,160 540
Zoyay— 2,256 &Y AAL 40 | R 6
JuiE 6
B 4
GiEPS) 2,216 | =% 6
JbiEE 6
B 4
Tl 17,590 |& Y AAL 25 |35 5
BE 5
BH 5 1,944 | 1,836
GERS] 17,565 |# 5 5 2,160 | 1,080 972
BE 5 1,944 | 1,728 | 1,404
By 5 2,808 | 1,404 972
MEDL % 8,780 | #@xd 8,780 | x* 1 10 | 2916 | 2592 | 2,484
BB 10 | 2,376
BH 10 | 1,944 1,836
ANCH 6,149 (¥ Y AAL 60 |=A 0.4
5 0.4
By 5 2,700 2,592
zhs 6,089 | =40 0.4
i) 0.4 248 238
£ 5 2,700 | 2,160 | 1,944
k= & 4,125 | #@x 4,125 |#HA 4
REA 4 1,512 972 864
R 4 1,512 | 1,296 | 1,080
IZhkw b 879 | A 879 [REA 3 1,620 | 1,296 972
i, 3 1,512 | 1,296 | 1,080
& 0.2 140 108 86
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FEHR aniE Hi| =fE B =&
-~ 5,613 (&Y AR 24 |23 0.15
= 0.15
B 0.15
X 5,589 |Z%I 0.15 97 86
Al 0.15
B 0.15 97
E2HAZL 800 | 48X 800 |2k 5
BE 5
BH 5 2,484 2,160
WALTA 62 | #Exd 62 |FE 2 2,700 1,620
K 2 2,160 1,080
By 2
2FyTRIAES 204 | AEx 204 (BS 2 2,700 [ 2,160 | 1,620
ES 1
BH 1
BECFNAES 12,690 | #Ext 12,690 |FEiks 10 | 2484 1512 | 1,188
GEE 10
£ # 10 | 1,404 | 1,296 864
ToERE 12,840 | #Ext 12,840 |xfE 20 | 3,132
EB 20 | 3,132 3,024
BH 20 | 2,592
oK) 2,331 | Y AAL 42 |F0FRL 10
5 10
By 10
iEpS] 2,289 |F1FR L 10 | 16,200 | 14,040 | 11,880
5 10
£ 10
Z DMEF R 22,703 |& Y AL 159
GERS 22,540
[ERzipal::: 4

3/4




SM7FE06H09H (AER) 1365415

HFEHE - @&
KHME #HHEHER SM7E06H098 (BRER)
Bifif : kg, M
I ENFS (A
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REIVAZ 6,390 | 4Ex 6,390 | B #% S L 10 | 6,804 4,320]| 4,104
H b 74 | 1EH 74 (13 1 1,404 864
25
By 4
ERES 10 | A8t 10 |1L3Y 0.5
AR 0.5
By 0.5
ERSCYIES 1,045 | 4833 1,045 |l ks | 018 864 540 486
& i SR 0.2 864 756 540
TXAUH e 8
kX O 8,970 | N 8,970 2%k 5 2,808 | 2,484 | 2,376
FEE 5 3,780 | 3,240 | 2,700
BH 5
gAv—Aay 960 | #8xd 960 |ZeH 5 3,240 | 2,160 | 1,944
L 5
By 5
TUTARXAYV 10,615 | 8% 10,615 2% 5 3,240 | 2,700 [ 2,160
i 5
BH 5
ERAY 10,368 | W AAL 13 |F% 15
REA 15
By 15.5
GEpS 10,355 | T 15
A& 15 | 2,700
& 15.5
ZREETULH 1,200 | @ 1,200 [k 8
5 8
By 9
ZDRE 22,314 | 8% 22,314
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